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MK-Theorem1: FOR all X Belongs to Z for all X Belongs to Z.
DX=-X
2) IF X IS EVEN NUMBER THEN X=0
3) IF X IS ODD NUMBER THEN X=1
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Introduction

Method of proof:
1-We will prove that all even numbers are equal to zero.

e 0=2
Proof/
0=1-1
=1-1
=1- D+ (D
=1-(-1D*y(-1)
=1-—(i*iQ)
=1-i%
=1-(-1)
=1+1
=2
e 0=4
Proof/
0=1-1+1-1
=1-V1+1-+1
=1-y(-D+(D+1-{/=D=(-1)
=1—/(-D*/(-1D)+1—-,/(-1) *x,/(—-1)
=1-—-((*)+1—(i*iQ)
=1-i2+1-i?
e 0=10
Proof/
0=1-14+1-1+1-1+1-14+1-1
=1-V1+1-VI+1-VI+1-V1+1-+1
=1-JD*ED+1-YyEED (D +1- D+ (D +1- D+ (D +1— /(=D + (-1)
— 1D+ /D + 1~ D+ JeD + 1= /(D) + D + 1 =y~ D + /(D + 1= /D (=D
=1-(i*D+1—-((*D)+1—-(i*D)+1—-(i+D)+1—(i*0Q)
=1-2+1-?+1-i?+1-i?+1-i?
=1--D+1--D+1-(-D+1-(-1D+1-(-1)
=1+1+1+1+1+1+1+14+1+1
=10
Thus for all positive even numbers.
In the same way we prove that zero is equal to negative even numbers and we will suffice with one example.

e 0=-6
Proof/
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0=1-1+1-1+1-1

=Vi-1+V1-1+vV1-1

V(l)( D-1+/D+ D -1+/ED (1) -

V(= ,M D-1+/D*/1D) -1+ /(D /(-1 -1
J ,/ )—1+J(1 s JD) -1+ /(D) /(-1 -1
=i?-1+i?-1+i*-

= (- 1)—1+( 1)—1+( 1)-1

-1-1-1-1-1-1

-6

Thus the rest of all negative even integers.

2-We will prove that all odd numbers are equal to one.

e 1=3
Proof/
1=14+1-1
=1+1-+1

=1+1—/(-1)*(-1)
=1+1-—/(-1)*,/(-1)
=1+1—-(ix*i)
=1+1-i?
=1+1-(-1)
=1+1+1
=3
e 1=5
Proof/
1=1+1-1+1-1
=1+1-V1+1-V1
=14+1-(-D*(-1)+1-/(-1) *(-1)
=1+1-/D* /D +1-/(-1D) */(-1)
=1+1—-(i+xD)+1—-(i*0Q)
=1+1-i2+1- 2
=14+1-(-1)+1-(-1)
=1+1+1+1+1
=5
o 1=11
Proof/
1=-1+1-1+1-1+1-1+1-1+1-1
=1+1-V1+1-V1+1-VI+1-V1i+1-V1
=1+1-/D*s(D+1-J/D*(D+1-JD*(D+1-J(D* (-1 +1—-/(-1) = (-1)
=1+1-/-D*/D+1- /D /D) +1 - D+ /D) +1 - /D /(D) + 1 - /(1) = /(-1)
=1+1-(*D+1—-(*D+1-({A*D+1—-({A*D)+1—(*0Q)
=1+1-*+1-i?+1-i*+1-i+1-i?
1+1-D+1-D+1-(-D+1-(-1)+1-(-1)
=1+1+1+1+1+1+1+1+1+1+1
=11
Thus for all positive odd numbers.
In the same way we prove that one is equal to negative odd numbers and we will suffice with one example:
o 1=--7
Proof/
1=1-1+1-1+1-1+1
=V1I-1+VI-1+V1-1+V1
=VED«(ED -1+ (ED (D -1+ (ED (D) -1+ (1) + (1)
=VED Yy ED -1+ ED Y (ED -1+ (ED Y (CD) -1+ (D + /(51D
() —1+@*D)—1+(@{*i)—1+(i*0)
Z-1+i2-1+i2-1+i
-1+ -1+(-1-1+(-1)
-1-1-1-1-1-1-1

Conclusion:

All integers are divided into only two equivalent class as it in follow:
[even mumbers] =0
[odd mumbers] = 1



